4eThIpe ApoOH, TeCATUUHBIE IPOOH, TOPSTOK
oreparmii o CKOOKaMu

1
4,8+4(3-5,9) =

1
2,4-3(4.7+ 3) =

1
4,4x12+3-2(z =3,1) =

1
2,9-4(3+3,9) =

Jara: Orenka:
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4,9+ =)x2+ =
(7 3) 2
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Z-)x2+5,7=
(5 5) b

I 1
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- —52,2+-)=
5 (9 4)
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4eThIpe ApoOH, TeCATUUHBIE IPOOH, TOPSTOK
oreparmii o CKOOKaMu

I 1
2,5+3(z - =)=3

262

1
4.8+4(3-5,9) = (-75) = (—17%)

1 127 7
2,4-34,7+ =)= (——) = (12—

1 117 2
4,4x12+3-2(=—-3,1)= — =23
b (5 9) 5 5

1 373 13
2,9—4(=+3,5) = (-22)= (12—

Jara: Onenka:

2 1 349 19
4,9+ -)x2+-=—=11—

3 2 30 30
3 3 3 3
—_ — = X2—_:—_
G-P*2-z=(2
2 3 53 3
——=)X2+57=—=5—
(3735)%2%57= 3% 751

I 1 23 3
20(= — =)+4x5-4,6=(——2)=(-4=

1 1
-—52,2+-)=(-
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